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X, = xXo(mod m) llﬁlﬁ ax; = axy = b(mod m) ﬁuﬁa X, Lﬂuﬂﬁlﬂﬂﬂ‘ﬂﬂd ax = b(mod m)
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15 = 1946
9 = 1-6+3
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Yariu
3 = 9-1-6
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X
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3.3 nyijuniAMAeveaw U (The Chinese Remainder Theorem)
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I
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= l{mod m,)
£
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NN = 1.2, ..k
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— l(mod 4)
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#IPE19 3.23 FIMIHARAUVDI

X = I{modS e (1)
x = 2mod6} (2)
x = 3mod7) (3

@ WY Ao o :i o 3
381 0 () 9ld Bswawan « imn
x = S5t+1
1 3
WU x = Si+1 e @ ezla
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’i]:vl@’]/ Xo
TGN

o o v A
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M 10 M = [m, my
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X
X
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Xy
Xy
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i
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a,(mod m»)
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a (mod m;)
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-
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X, = a +mk,
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X

a,(mod m,)

X

a,(mod m,)

X

i

a,(mod m,)
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I AnsmuRmizmsasissiy (1), ), 3) wez (@) wiuNaoandssnuion'ly
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URUAM x = 5+6u U (3) wela

5+6u = I(mod %)
SN
5 = O(mod $)
] ¥
ala 6u = I(mod 5)
o o
NANAILLINAD u = I(mod 5
o 5 oo ] d' o by
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ﬁ'aﬁ'u 30v = Il(mod 7}
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uho WMIUAN w AMIA
v = 4+ 7w
FIUU x = 11+430v = 11+30(4+7w)

X 131 + 210w

]
o

NITUITEUUNSAITBUNU

x = 31(mod 210)
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' R
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34 prsnagaumsmIaini (Divisibility Tests)
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a W o d 3
3.5 NqUAUNVELTafuIRzNquUNEn § veauHing
(Wilson’s Theorem and Fermat’s Little Theorem)
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